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v .3, 42 3,2, 5 5 o5
Opplwl 2=+ 17 =(2+1)+( +2)=3+=3-

4 1
128 + 76 = (12+7)+(4/6+1/6)=19+5/6=19 5/6

2% + 10% =(2+10)+(5/12+5/12)=12 10/12=12 10/12

13 3
3ﬁ + 1Z =(3+1)+(13/24+3/4)=4 16/24+ 14 16/4

3 2
4 - + 11 3 =(4+11)+(3/7+2/5)=15+3x5+7x2/35=29/35=15 29/35

3 17
12E + 6m = (12+6)+(3/25+17/100)=18 29/100

2 2
977 T °3 =(9+5)6+22/33=14 28/33

20; + 1% =(20+1)+6+5/14 = 21 11/14

1 7
20 D + 8 ﬁ=(20+8)+ (1/12)+(7/24)=28 8/12+28 8/24

e Uunnquihoh (hnjuwnkl bty phy gpim phupmd junugh
hwjwuwpnipnit:
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* —12=42,"=4 6/7+1 2/5 = 5 30+14/35 =5 44/33
3,3
* _81_0=4E , "4 3/5+83/10=126+3/10= 12 9/10
o Zwpyphp 2 % U, 3 g Ul 42 U §nnutpny Enwtljjut wupwghdp:

P=22/5+3 3/5 +4 2/3 =9 6+9+10/15=9 25/15





